HPC - A

Review - Polynomial Functions
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Identify the domain and range. Use interval notation.
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State the degree of each polynomial and sketch the general shape of the graph. Write the end

behavior for each,
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Write an equation for the graphed polynomial.
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Sketch a graph of the polynomial. Find all real and d¢omplex solutions. Clearly label the
x-intercepts (real solutions only) on the graph.

9) flx)=—x(x- 4 (x +7)(x+ 10>

Doy : (—<)




10) f(x)= x* —7x* +10x% + 14x — 24, f(3)= 0
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Find the domain. Use interval notation.
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Simplify. Rationalize & simplify for #'s 22 & 23. Show at least one step of work.
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Simplify each. Show at least one step of work.
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